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\WE WOULDNT HAVE ALL THESE
PROBLEMS IF PEOPLE JUST
LEARNED T0 BE MORE LOGICAL
AND SCIENCE-DRIVEN INSTEAD
OF RELYING ON fFEELNVGS.

OH? WJHAT STUDY ARE
YOU BASING THAT ON?

T JUST!m oBvIoUS!

L MEAN, LOOK AT THE (RAP
THESE IDIOTS BELIEVE!
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Problem 1. Determine whether each of these conditional statements is true or false.

a) If 1 + 1 = 3, then next problem set will be easy.

b) If 1 +1 = 3, then there will be no end semester exams for this course.

d

)
)

c) If 1+ 1 = 3, then next statement is true.
) If 1 +1 =2, then this statement is true.
)

e) f2+2=4 then1+2=3.

Problem 2. Construct a truth table for each of these compound propositions.
a) p—p
b) p < —p

c) p@(pVa)
d)

(p+q)®(p < —q)



e) (p®q) — (p®—q)

Problem 3. State the converse, contrapositive, and inverse of each of these conditional
statements.

a) If teacher is not coming next week, there will be a quiz.
b) T come to class whenever there is going to be a quiz.

c) A positive integer is a prime only if it has no divisors other than 1 and itself.

Problem 4. Explain, without using a truth table, why (pV =¢) A (¢ V —r) A (r V —p) is true
when p, ¢, and r have the same truth value and it is false otherwise.

Problem 5. Evaluate each of these expressions.

a) 11000 A (01011 Vv 11011)

C

)

b) (01111 A 10101) v 01000
) (01010 & 11011) & 01000
)

d) (11011 V 01010) A (10001 v 11011)

Problem 6. Use =, —, A and V to express the following declarative sentences in propositional
logic; in each case state what your respective propositional atoms p, ¢, etc. mean:

CTRL+ALT+DEL. e ey 055"

a) If Buckley’s wife is sick, he will visit the hospital.

b) If someone inquires a receptionist, and she has the information,
she will help.

¢) The doctor will contact Buckley when his wife is sick and he is
worried.

d) If the doctor is NOT on time then a child dies and the mother
cries.

Problem 7. You are eligible to be President of the U.S.A. only if you are at least 35 years
old, were born in the U.S.A, or at the time of your birth both of your parents were citizens, and
you have lived at least 14 years in the country. Express your answer in terms of e: “You are
eligible to be President of the U.S.A.,” a: “You are at least 35 years old,” b: “You were born in
the U.S.A,” p: “At the time of your birth, both of your parents where citizens,” and r: “You
have lived at least 14 years in the U.S.A”



TLL BE N YOUR CITY TOMORROL)
IF YOU LIANT TO HANG OUT

BUT LHERE LWILL.YOU BE IF
T LOVT UANT O HANG OUT?!

YoU KNoU T JusT
REVEMBERED T BUSY.

WHY ZTRy NoT 10 BE
PEDANTIC ABOUT CONDITIONALS,

Problem 8. Prove the validity of the following sequents:
a) (pAQ Ar,sANtEqAs

b) p—=(p—q)ptq

¢) q—=(p—=r),-rqkt-p

d)g—=rFpP—q9 —@E-—r)

)

)

)

e) pVagbr—(pVq) Ar

f)

g) p—>q,r—-t,q—>rkbp——t
h) p—qt-pVyq

i) F

i) FpVag—(p—q)

DE@—=aVie—r)
Problem 9. For the sequents below, show which ones are valid and which ones aren’t:
a) 7p—-qkq—p

b) =pV gt =(pAg)

c) pVg,-qVrkpVvr

d) pA-pE=(r =g A(r—q)

e) ~(=pVaq) Fp

*Problem 10. The nth statement in a list of 100 statements is “Exactly n of the statements
in this list are false.”

a) What conclusions can you draw from these statements?
b) Answer part (a) if the nth statement is “At least n of the statements in this list are false.”

¢) Answer part (b) assuming that the list contains 99 statements.



*Problem 11. Sudoku is a placement puzzle. The aim of the puzzle is to enter a numeral
from1 through 9 in each cell of a grid, most frequently a 9x9 grid made up of 3x3 subgrids
(called "regions”), starting with various numerals given in some cells(the "givens”). Each row,
column and region must contain only one instance of each numeral. Its grid layout is like the
one shown in the following schema:

6 E 5
9 3| 8
5 1 6
43 7
gls 7|1
4 6 8
7 9/8
7 |4 2
8 3 .6

Provide a formalization in propositional logic of the Sudoku problem, so that any truth assignment
to the propositional variables that satisfy the axioms isa solution for the puzzle.

Hint: For 1 <n,r, ¢ <9, define the proposition in(n,r, ¢) which means that the number n has
been inserted in the cross between row r and column c.

PROBLEI:
[ LFRoB THE BoAT ONY HOLDS TWo, BUT YOU
CAN'T LEAVE THE GOAT WITH THE
CABBAGE OR THE WOLF WITH THE GOAT.

[ (EouTion] 1. TAKE. THE GOAT ACRDSS,

(

2. RETURN ALONE.

)

[3. TAKE THE ¢ABBAGE ACROSS. |

[WHY DID You HAVE A WOLF?]

Compiled from various sources, by Ashwani Anand (M.Sc. CS, I¥* year) and Ekanshdeep Gupta (B.Sc. Math
and CS, I1I"¢ year), with comics from xked and CAD comics.
(You are bored)A(You like comics)— (Read xked) V(Read [CAD comics)V(Read PhD comics)
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https://www.xkcd.com/
https://cad-comic.com
http://phdcomics.com/

